1. QM for Windows Sensitivity Analysis 1 

The following model was solved using QM for Windows.
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The solution produced the following Range window (Sensitivity Report).
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A) Which of the following is true about the constraints?


a) Constraint 1 has no slack
    Constraint 2 does have slack
b) Constraint 1 does have slack
    Constraint 2 has no slack
c) Both constraints 1 and 2 do have slack
d) Both constraints 1 and 2 have no slack


B)  Which one of these adjustments to the objective function coefficients would change the optimal product mix?


a) Setting the coefficient for x1 to 6.5
b) Setting the coefficient for x2 to 7.0
c) Setting the coefficient for x3 to 2.5


C)  The manager elects to purchase 25 additional units of Constraint 1 for $1.25. How much additional profit results? (Two decimal places)


a) $0.25
b) $0.31
    c) $1.25
        d) $1.56


